SEAH A0 BH:(610) P40l AIE:(611) 2442 2:(001) HEE (B9 & )
o7l -
ot = of &b o | MUEZold | =y =
Mo = ® ®) (-8) o = /| =
53,476,062 53,132,419 343,643
50,215,893 49,227,008 988,885
611
2440 48,316,193| 47,300,728 1,015,465
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:(100) X+=X 8:(120) DEXAIN2 4 HIBH:(126) ZIIPHIE  =2:(001) XHAHOH242l CELR-E!
= of &b o | MUEZold | =y Ab = ] =
Mo 8 = ® ®) (A-B) = = -
0 1,000& =
127
JIEIIIS HHI Xt 1 1 0
127-1
XHAROH 2t 22 1 1 0
[+C#ED]
O=xn=
0 1,000& =
1 1 0
223
XeHeo 2 1 1 0
223-1
Al E8X24Y 1 1 0
[ 4831
O=x1n=
0 1,000& =
1,284,241 1,495,641 A211,400
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== 1,188,240 1,188,240 0
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2H:(100) KtEX =21 8h:(320) AE2A0342 ME:(321) AEEY2 =2:(001) AME2YS CHe A R)
i} = Ol Ab oM & E & 0] AbeH = 2 At = J| =
<Bt> .3t A8 = 0) (B) (A-B) - = -
[==&83 ]
O AL Z A}
0 13mm : 145,000 X740%& = 107,300
0 20mm : 392,000 X110™ = 43,120
0 25mm : 697,000 X70& = 48,790
0 32mm : 1,263,000/ X30%& = 37,890
0 40mm : 2,133,000 & X30% = 63,990
0 50mm : 3,395,000/ X20 = 67,900
0 75mm : 7,036,000 X20 = 140,720
0 100mm : 12,012,000/ X18% = 216,216
0 150mm : 26,157,000 X2 & = 52,314
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0 75mmO| 4t : 26,000,000 X10& = 260,000
0 75mm0| 8t : 3,000,000 X50 = 150,000
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IR 1 1 0
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Moo = ® ®) (A-B) = -
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N
=X =
1,000& =
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JlEt A =2H 1 1 0
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JIEt =28 1 1 0
421-1
JIEt =28 = 1 1 0
N
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500
78,600,000 78,100,000 500,000
510
78,600,000 78,100,000 500,000
511
MEZ0IE 2 75,500,000 75,000,000 500,000
511-1
MEZ0IE 2 75,500,000 75,000,000 500,000
ACHH
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ot = Of A o | FEZOAY | = A AF = J] =
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0 75,500,000,000& = 75,500,000
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OnHE 420t 0122
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